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he following instructions very carefully and strictly follow them :

This question paper contains 34 questions. All questions are compulsory.
This question paper is divided into two parts — Part A and Part B.
Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A

(Accounting for Partnership Firms and Companies)

(1) Mehak and Ravish were partners in a firm. On dissolution of the
firm, the loan given by Mehak to the firm was ¥ 30,000, by Ravish
was ¥ 15,000, and by Mrs. Ravish was ¥ 10,000. The first
payment will be made for : 1

(a) Ravish’s loan

(b) Mehak’s loan

(c) Mrs. Ravish’s loan

(d) Mehak’s loan and Ravish’s loan in the ratio of their loan
amount

OR
(i)  Surbhi and Leena were partners in a firm sharing profits and
losses in the ratio of 5 : 3. Ashi was admitted as a new partner for
i share in the profits of the firm. Ashi acquired % of her share

from Surbhi. From the following, how much share did Ashi acquire

from Leena : 1
1 3
(a) E (b) 2—0
2 3
4 d i
(c) 5 (d) 3

-~~~ Page 3 P.T.O.



2. (1) GIem fAfes 9 100 I&9% & 20,000, 11% OO bl HA
10% Siftem @ foman, St e 5% Hiftem w fohar 1 8 | Sreoresn
& e W B @’ & 9™ 981 § @i shl S

(a) ¥ 3,00,000
(b) T 2,00,000
(c) ¥ 1,00,000
d) T 22,00,000
Jrra
(i) RE fafds 3 T fdfide @ T 8,00,000 i ufErala=i &1 w9 T

g T 2,00,000 i AW A | PAHE T 100 T3H b 8% FITTHAT i
20% ey W Fia ek foran Srem | fifia fobe S aer SRoTas

& T qrt
(a) 50,000
(b) 5,000
() 6,000
(d)  6,00,000
3. @ Il o U TSI SIg@ ol Il o TR B |
(a) A (b) e
(¢ wHHA (@) TR
AT

(i)  Toom™ 9 & st= a9 9o 3da ¥ aiEdad o §99 91eieii
ISt @t § GeRi’ ol Fefafad ogda § garaid R ST |

(a) W AU

(b)  AfUATH AU

(c) IUAT &Y ToIuTSH AuTd
(d) 1 Y fouSH T
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(1)

(i)

(1)

(i1)

Sunbeam Ltd. issued 20,000, 11% debentures of ¥ 100 each at a
premium of 10%, redeemable at a premium of 5%. The ‘Loss on
Issue of Debentures Account’ will debited by : 1

(a) ¥ 3,00,000
(b) % 2,00,000
(c) < 1,00,000
(d ¥ 22,00,000

OR

Nargis Ltd. purchased assets of ¥ 8,00,000 and took over liabilities
of ¥ 2,00,000 from Gauri Ltd. The payment was made by issue of
8% Debentures of ¥ 100 each at a premium of 20%. Number of

debentures issued will be : 1
(a) 50,000

(b) 5,000

(¢ 6,000

(d  6,00,000

is the basis of relationship between the partners to run the

partnership business. 1
(a)  Offer (b)  Agreement
(c) Understanding (d)  Acceptance

OR

At the time of change in profit sharing ratio among existing
partners, ‘Reserves’ are transferred to Partners’ Capital Accounts
in the following ratio : 1

(a)  Sacrificing ratio

(b)  Gaining ratio

(c) Old profit sharing ratio
(d)  New profit sharing ratio

-~~~ Page 5 P.T.O.



4. (1) hYI qAT HOT Th BH H GEER I 9AT Al BT [GIHSH sHIeR-STK
H @ Y | B % FEd A B GShd ed T 18,00,000 AT | BH
gfmrafeat (Tt o Biget) T 20,00,000 99T FATE T 5,00,000 of |
3Tad AT < SRt oy grT wH <l @l <1 Jod g

(a) ¥ 2,00,000 (b) ¥ 3,00,000
) T 4,00,000 @ ¥ 3,50,000
AT

(ii) o 91 @ T B4 § HEER & qAT 3 : 2 A H Y- died o |
1 373, 2021 Wl 3k YSil @Al § HAEM: T 1,50,000 TAT T 2,00,000
% I I | WP Hoi@ # ARl S gl W 10% aif¥ed @ & A H
TEHH o1 | 31 HE, 2022 W GHH §C 99 H BH H T 10,000 h FTH
3 | % I ISl WS B0

(a) ¥ 15,000 b) T 9,000
(o A d ¥ 6,000

5.  SYFYT(A): GEIER % KU G AN hl Gl ATH-ZIH @1 & 19 987 § <kl
ik
FRU(R): WA % R W SIS ATH o foeg TIR B |

ST AMUHAT (A) TAT HRU (R) & YR W FAfalea o & @&l fasheq =
WW:

(a)  ATHIT (A) Tl & 9T SRV (R) Teid 8 |
(b)  IATHHAA (A) T @ 9T SR (R) E&1 2 |
() I AR (A) T HR (R) T 2 |
(d) I ARTHIA (A) TAT HRUT (R) Ted & |

6. () T 10% T W, & T 2 ufa 31w srfengey w fwifim fopan o B, oM
W T8 Ufa s (ffem =fgd) #@m fow 7w g Qe
T 6 gfa 3w (Niftem wizgd) um o fow e g, o1 7w = fomm | eI
STt @Td ok A 987 H @Al hl ST
(a) T 10 (b) T8

(c) T 12 (d) T6
YT
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(1) Keshav and Karan were partners in a firm sharing profits equally.
The capitalised value of average profits of the firm was
T 18,00,000. Assets of the firm were I 20,00,000 (excluding
goodwill) and Liabilities were ¥ 5,00,000. The value of goodwill of
the firm by capitalisation of average profits method will be :

(a) ¥ 2,00,000 (b) ¥ 3,00,000
) T 4,00,000 d ¥ 3,50,000
OR

(ii)) A and B were partners in a firm sharing profits and losses in
the ratio of 3 : 2. On 15t April, 2021 the balances in their capital
accounts were ¥ 1,50,000 and I 2,00,000 respectively. The
partnership deed provided that interest on partners capital will be
allowed @ 10% per annum. During the year ended 315t March,
2022, the firm incurred a loss of ¥ 10,000. Interest on A’s capital
will be : 1

(a) ¥ 15,000 (b) ¥ 9,000
(¢) Nil (d ¥ 6,000

Assertion (A) : Interest on partners’ loan is debited to Profit and Loss
Account.

Reason (R): Interest on partners’ loan is a charge against profits.

On the basis of the above Assertion (A) and Reason (R), choose the correct
option from the following : 1

(a)  Assertion (A) is correct and Reason (R) is wrong.
(b)  Assertion (A) is wrong and Reason (R) is correct.
(c) Both Assertion (A) and Reason (R) are correct.
(d)  Both Assertion (A) and Reason (R) are wrong.

(1) A share of ¥ 10 issued at a premium of ¥ 2 per share on which ¥
8 per share (including premium) have been called and ¥ 6 per
share (including premium) is received, is forfeited. Share Capital

Account will be debited by : 1
(a) <10 (b) T8
(c) T 12 d <6

OR

~SN~~ Page 7 P.T.O.



(ii) T 100 % Ush I &1, @ W T 70 IH = 9w 70 &, T 30 v Afcw
FTSHT ST YA T i o HRUT, T HL o1 | 98 —Jan T o |

3G 37 I YAIEG T ST HehaT B, B 1
(a) T 70 (b) T 30
(c) < 100 (d) T 130

7. Tosru don gia T B | AIEIGR 9 qAT 2 : 1 AT § ATH-EIH T fauTeH
Hd ¥ | B FHEISH o qvEq fosed dum giua sl St A T 50,000 AT
2 40,000 off | 3E A A & % foro W wEew % w9 A
a9 fean | aea &0 | ATl St R | ST g s TS gott bl Ui off ¢ 7

(a) ¥ 45,000
(b) T 30,000
(c) T 60,500
(d) T 90,000
8. TIem fafiee 3 T 100 IF & 4,000, 6% FoTaHt 1 Friga T 95 Ul oo
I fRaT | 6% RUT9T WId o STHT 987 § @il 6l s} - 1

(a) ¥ 3,80,000
(b) T 4,40,000
(¢ ¥ 4,00,000
d T 20,000

1T HIcqi+e e8fa #1 9T o 399 & 7T o1 & STTaR T 397 &1 9 97
10 & 3 T :
313, =% YT oo |EER € A1 2: 1: 2 U H Y-gIH 1 fa9eH
g | 3T St HES: T 5,00,000, T 3,00,000 9AT T 2,00,000 ff | AT A
AT 9 O I8 TR @ T foreft oft o o feem & oy o1 wmr oot argiewt
H 5% fd a9 H @ F G W &N ¢ o a6 T 75,000 § HF T&l g1 |
31 HT=, 2022 ! HH §T 9 1 A T 2,00,000 o7 |
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(i1)) A share of ¥ 100 on which ¥ 70 has been received is forfeited for
non-payment of final call of ¥ 30. The minimum price at which

this share can be re-issued is : 1
(a) T 70 (b) ¥ 30
(c) < 100 d ¥ 130

7. Vikram and Sumit were partners in a firm sharing profits and losses in

the ratio of 2 : 1. The capitals of Vikram and Sumit after all adjustments
were ¥ 50,000 and ¥ 40,000 respectively. They admitted Jayant as a
partner for % share in the profits of the firm. Jayant brought

proportionate capital in the firm. The amount of capital brought in by

Jayant was : 1
(a) ¥ 45,000
(b) ¥ 30,000
(c) T 60,500
(d < 90,000

8. Sunbeam Limited issued 4,000, 6% Debentures of ¥ 100 each at ¥ 95 per
debenture. 6% Debentures account will be credited by : 1

(a) ¥ 3,80,000
(b) ¥ 4,40,000
(c) < 4,00,000
(d ¥ 20,000

Read the following hypothetical situation and answer questions number

9 and 10 on the basis of information given :
Anu, Charu and Divya are partners sharing profits and losses in the ratio
of 2 : 1 : 2. Their capitals were T 5,00,000, T 3,00,000 and T 2,00,000
respectively. Anu personally guaranteed that in any year, Divya’s share
of profit after allowing interest on capital to all partners @ 5% p.a.
would not be less than ¥ 75,000. The profit for the year ending
315t March, 2022 amounted to ¥ 2,00,000.

617/3/3 ~ o~~~ Page 9 P.T.O.



10.

11.

12.

13.

fezan <1 e <1 Uiy ffafiga ofyr & %60 2

(a) ¥ 75,000
(b) T 5,000

(¢ ¥ 15,000
d T 20,000

TE 1 TR ST TORISE S o 9991 d1eigil o s fauia 61 S areft
Jfeam @y <h Ui @Tﬁ :

(a) 34 T 50,000; T T 25,000; fg=am = 75,000

(b) 313 T 55,000; T T 30,000; TEAT T 65,000

(c) 31 T 57,000; 9 T 28,000; TGaT T 65,000

(d) 319 T 45,000; I T 30,000; =T T 75,000

AT, ST qAT oG HISIGR & A1 5 : 4 : 3 o TG H ATH-EIH dled @ |
1 379, 2022 %I FM TGS & A1 | AT qAT Mo 5 39 T 1,20,000 H1
YA hich AT T 38 AT T 563 L ol | T 80,000 T YA TMUTA qqT
T 40,000 T JTaH Mag = foham | ATy 3 guma gom

(a) 5:3 (b) 4:3

(c) 1:1 d 2:1

T BH ! Ea faf =i $Sit T 3,00,000 8 | SHEEE H E TR @

20% @ qUT BH % IHEd dH T 80,000 & | HAUATHI  YSieRwr foafa gra
AT T AT &

(a) ¥ 8,00,000 (b) ¥ 1,00,000
e T 2,00,000 (d ¥ 6,00,000

Sttee fefids 9 T 100 I & 50 3190 BT &1 R T 1 W T 30 afa 3w
<t 3Tees TRT (T 10 gfa 319 fifem wfgd) qen = 30 gfa 31 hi wem =
Tfst e & g% ot | T 20 Wfd oFw i fgdfa qun ik Fremn "l A6l TS ot |
39 3T o BT UL 37 B0 Wi o ST 9 H @Ml shl ST aTedt ik B
(a) T 2,500 (b) T 2,000
() T 5,000 (d T 1,500

67/3/3 ~~~~ Page 10

N~



10.

11.

12.

13.

617/3/3 ~a~~ Page 11 P.T.O.

Divya’s amount of guarantee is short by the following amount :
(a) < 75,000

(b) ¥ 5,000
(¢) ¥ 15,000
d ¥ 20,000

The final amount of profit distributed among the partners after
adjustment of guaranteed amount will be :

(a) Anu T 50,000; Charu ¥ 25,000; Divya ¥ 75,000
(b)  Anu T 55,000; Charu ¥ 30,000; Divya ¥ 65,000
(c) Anu T 57,000; Charu ¥ 28,000; Divya ¥ 65,000
(d) Anu T 45,000; Charu ¥ 30,000; Divya ¥ 75,000

Gopal, Krishna and Govind are partners sharing profits and losses in the
ratio of 5 : 4 : 3. Krishna retired on 15t April, 2022. Gopal and Govind
purchased her share of profit by giving her ¥ 1,20,000, ¥ 80,000 being
paid by Gopal and ¥ 40,000 by Govind. The gaining ratio will be :

(a) 5:3 (b) 4:3

(c) 1:1 d 2:1

Average capital employed in a firm is ¥ 3,00,000. The normal rate of
return in the business is 20% and the firm’s average profits are ¥ 80,000.
Value of goodwill by capitalisation of super profits method is :

(a) ¥ 8,00,000 (b) ¥ 1,00,000
¢ T 2,00,000 (d T 6,00,000

Jeevan Ltd. forfeited 50 shares of ¥ 100 each on which allotment money
of ¥ 30 per share (including premium of ¥ 10 per share) and first call of
T 30 per share was not received. The second and final call of ¥ 20 per
share was not yet made. The amount credited to ‘Share Forfeiture
Account’ on forfeiture of these shares will be :

(a) T 2,500 (b) < 2,000

(¢ T 5,000 @ T 1,500



14. Ffad 4ot 1 97 Wi 98 wumeht @ avcad § e S forn mn R, wear

2
(a)
(c)

it ot (b)  3Hfrem gt
fofira ot (d)  gehar ot

15. 3Ife e faurd & 31@ o orEier g v ffvea afyr 1 smewwr foman sman 2,
Al TR h1 T8 ol TR T SATEWT T AT hl AT hl AT

(a)
(c)

z%rrrs'%fm b) 9T * T
6 TTE % foru d) 3= S fou

16. WEHh qUT Tgh TR 9 AT Tcish 1 doft T 40,000 off | 3214 31fe bl @i
i % Wit % e B # T AU AEeR % w0 § v REn | el o ot %

T H T 80,000 TS | 3fc o Y o AT HH hl AH-BIH GrdT A9 987 |
T 10,000 T I M TG AT | AT(G o TS T BH <hl TAT(T T Hed BT

(a)
(c)

17. (&)
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¥ 2,50,000 (b) T 2,40,000
F 2,30,000 (d) T 4,00,000

T, B9 QT 89 G189’ 9 a1 2: 1 : 19 319 § @Y sied 9 | T4
3 gfd A8 T 3,000 991 T 3 Ufd AT T 4,000 1 AT fRAT |
IR W 6% TN G H SIS T AT SIelfeh ATHEHT Her@ Tl T
S o faw § 919 o |

39 R I TR T H G Y, Il Yg FH 2q ELIH GHRISH

gferfse shifT |

AAAT

& QAT S ATEGR o AT 3 : 2 % UG H AW Sied o | IThT Gt
%A T 50,000 TAT T 30,000 off | FEEH Forg ¥ ISt W 6% A
Y I qAT %7 hl AT &4 b1 qAT §&4 I T 1,000 & IATYHD o
T I UEEE AT | 1 I, 2021 I I 7 A h GR H Rl
gaEid & fomT ®H & T 1,00,000 1 0T feam | a9 2021 — 22 H At

A9 T 26,800 ¥ |
31 ®T=, 2022 I ATH §T 94 % fAC ®H 1 A faf=sy
TR A |
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14. A portion of the called-up capital which has been actually received from

the shareholders is termed as : 1
(a)  Called-up capital (b)  Subscribed capital
(c) Issued capital (d) Paid-up capital

15. If a fixed amount is withdrawn by a partner at the end of each quarter,
‘interest on drawings’ on the total amount withdrawn will be calculated

for : 1
(a) 4% months (b) 9 months
(¢) 6 months (d) 3 months

16. Mehak and Chehak were partners with capitals of ¥ 40,000 each. They
admitted Aadi as a new partner for é share in the profits of the firm.

Aadi brought ¥ 80,000 as his capital. On Aadi’s admission, the Profit and
Loss Account of the firm showed a debit balance of ¥ 10,000. Value of

goodwill of the firm on Aadi’s admission will be : 1
(a) < 2,50,000 (b) < 2,40,000
(c) T 2,30,000 (d) < 4,00,000

17. (a) Raman, Manan and Naman were partners sharing profit in the
ratio of 2 : 1 : 1. Raman withdrew ¥ 3,000 every month and Manan

withdrew ¥ 4,000 every month. Interest on drawings @ 6% p.a.
was charged whereas the partnership deed was silent about
interest on drawings.
Showing your working clearly, pass the necessary adjustment
entry to rectify the error. 3
OR

(b) Arun and Barun were partners sharing profits in the ratio of
3 : 2. Their capitals were ¥ 50,000 and ¥ 30,000 respectively.
Partnership deed provided for interest on capital @ 6% p.a. to Arun
and Barun and quarterly salary of ¥ 1,000 to Barun. Arun had
given a loan of ¥ 1,00,000 on 15t October, 2021 to the firm without
any agreement about interest. For the year 2021 — 22, the profits
earned were ¥ 26,800.

Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31st March, 2022. 3

617/3/3 ~ o~~~ Page 13 P.T.O.
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19.

20.

(%) tH s 3 T 100 T&F & 10,000, 8% T I 6% Fg T G
foram | Tfyr 1 Yram = TR @ ¥ o1 ¢ T 60 3MMEET W aAT I
e W | |t wiy fafereq e & g
T TAfeE i Jeaehl H STewdeh UsHIHEl Safsear i |

SPOCH]

(@) TH HA 9 T 10 T3 o quid: Im=d 4,000 31T, 9 w = 3 gfd
TSN 1 TS TRT 1 YTAE TohaT T o, 1 &1 AL foram | 31 4

2,000 3791 @ IO Iga T18,000 T gA:Fifia = feam = |
ST TG o oTT ATavaeh UstHTa= yfafsedt i |

%eh, HAC U1 HiEl ThH HH H HEHEER & | IR TRl S
HUE: T 5,00,000, T 10,00,000 TAT T 15,00,000 off | & 7T TR ISt
AT W AN Fied 8 | BH T¥% I8 31 W I U J&deh &g Hdl @ |
30 THawR, 2021 I ek i TJ 8 T5 | ATH H ek o WFT hl AT U=
feufa foaor &t fafy @ gy f fafy d6 fosha & emar w &1 Sl |
I¥ 2020 — 21 T fashd qAT &9 HAMW: T 20,00,000 96T T 2,00,000 T |
1 3794, 2021 ¥ 30 f&awsw, 2021 9 faa T 6,00,000 T |

(i) ek % ATH % WIT <hl TUMET HIfFT |
(i)  TH H ek o W o AGIehd hi TAIH UsHTH=T gfafse hifsu |

a;am@@tsﬁﬁw@‘q’r{éam?, 2 % FU § Al 1 fIHTST L B |
T R ot i - W%Wﬁﬁﬁ%mlﬁﬁ@mwlﬁasum
?zooooomgéﬁnﬁm‘—ﬁ‘ﬁr%mﬁwm% 9T o SR TG
rﬁaﬁ%lma@aﬁﬁ%ﬁaﬁ@mmﬁmaﬁﬁmﬁwﬁa
W % U H N & | 9t FHRISHl W 91 % a1 @ I Sl hA:
T 60,000 9T T 45,000 & |

% AT @ i 5 YSil i TUHT HIT qAT 3TMEwIh UoTaan Tfafsesr i |

617/3/3 ~ o~~~ Page 14

3



18.

19.

20.
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(a) M Ltd. issued 10,000, 8% Debentures of T 100 each at 6%
discount. The amount was payable as ¥ 60 on application and the
balance on allotment. All money was duly received.

Pass necessary journal entries in the books of M Ltd.

OR
(b) A company forfeited 4,000 shares of ¥ 10 each fully called-up, on
which application money of ¥ 3 each has been paid. Out of these,
2,000 shares were reissued as fully paid up for ¥18,000.

Pass necessary journal entries for above transactions.

Kanak, Kamal and Kanha are partners in a firm. Their fixed capitals
were T 5,00,000, ¥ 10,00,000 and ¥ 15,00,000 respectively. They share
profits in the ratio of their fixed capitals. Firm closes its books of
accounts on 315t March every year. Kanak died on 30th September, 2021.
Kanak’s share of profit till the date of death from the last Balance Sheet
date, was to be calculated on the basis of sales. Sales and Profit for the
year 2020 — 21 were ¥ 20,00,000 and ¥ 2,00,000 respectively. Sales from
1st April, 2021 to 30th September, 2021 were T 6,00,000.

i) Calculate Kanak’s share of profit.

(ii))  Pass necessary journal entry to record Kanak’s share of profit.

A and B are partners in a firm sharing profits in the ratio of 3 : 2. C is
admitted into the firm for i share in profits. The total capital of the firm
1s agreed upon as ¥ 2,00,000 and C is to bring in cash equivalent to i of
this amount as his capital. The capitals of other partners are also to be
adjusted in the ratio of their respective share in profits. The capitals of A

and B after all adjustments are ¥ 60,000 and T 45,000 respectively.

Calculate the new capitals of A and B and pass necessary journal entries.

3
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21. Ua, wfd q = THER & qA 5:3:2 % AUG H Y Fled o
31 9, 2022 w1 37ehT et foewor = ypr & o -

31 |, 2022 R I[N, Hid 94T <1e 1 feata feeru

- gﬁn et ;rﬁzr
fafay @er 70,000 | fH a1 HaA 3,50,000
T T ] 20,000 | Tieh 3,00,000
Sfiafa <Te 1 /O 20,000 | &TeR 2.00,000
o T @Y 10,000 | 1,90,000
o 4,00,000 ETS 70,000
Hia 3,00,000
e 1,00,000 | 8,00,000
9,10,000 9,10,000
ST fafar ot wd o1 foeres & m |

(i) 9| A WeH TF Wik Bl T 6,00,000 H o= T T | R H JEIh
T § 10% A ! T 53 |

(i)  #f¥fd =g o T HI HICH I35 T 22,000 T Th HFI <o RAT T
TgehT TRET T&ahi § & o1 |

(i) T T T 30,000 H TRT & TH =GR HT F9H 38 T 20,000 T TAH

ek oA |
(iv) 39 TSR] Wl Tohg YTAM L feam T |
EEQURCIRIRICAIN Ll

22. 13189, 2021 &I fazamg fafies 1 187 T 10 I9% $ 1,00,000 THAT W H
faws T 10,00,000 i Tfaeed ISt < &1y fRAT T | HE A 90,000 FHAT
33N o i & fou stree faeforent gro smmfEa feeu | shu =51 85,000 THaT
3191 % foTg 3TEET I JT | 3,000 371 < 91, WM A T 2 Ufd 379 i 52w
AT SAfH AT BT A T (b1 | 38eh 370 T g7 L o T |
Sl aafufm, 2013 61 IHE I, 9T I & IR A9 IS Bl S &
feurfa foator & gzt | oy & 36t & fou @mat & Aew ot TR il |
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21.

22,

617/3/3

Ravi, Kavi and Chand were partners sharing profits in the ratio of
5:3:2. On 315t March, 2022, their Balance Sheet was as follows :

Balance Sheet of Ravi, Kavi and Chand as on 315t March, 2022

A A
Liabilities MUY | Assets mount
Sundry Creditors 70,000 | Land and Building 3,50,000
Chand’s Loan 20,000 | Stock 3,00,000
Mrs. Chand’s Loan 20,000 | Debtors 2,00,000
Capitals : Less provision 10,000 | 1,90,000
Ravi 4,00,000 Cash 70,000
Kavi 3,00,000
Chand 1,00,000 | 8,00,000
9,10,000 9,10,000

The firm was dissolved on the above date.

(1) Land and Building and Stock were sold for ¥ 6,00,000. Debtors
were realised at 10% less than the book value.

(ii)

not recorded in the books.

(iii)

amount of T 30,000.

(iv)

Prepare Realisation Account.

Remaining creditors were paid in cash.

Mrs. Chand’s loan was settled by giving her a computer of ¥ 22,000

Ravi paid off one of the creditors ¥ 20,000 in settlement of his

On 18t April, 2021, Vishwas Ltd. was formed with an authorised capital
of ¥ 10,00,000 divided into 1,00,000 equity shares of ¥ 10 each. The

company issued a prospectus inviting applications for 90,000 equity

shares. The company received applications for 85,000 equity shares.
Shyam, holding 3,000 shares, did not pay the first and final call of ¥ 2

per share. His shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to

Accounts’ for the same.

[ o 2o ~2o 4
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23. qUI, MM qAT R(Yh! Th HH H FEGR 4 qA 2 : 2 : 1 % AW H
ATY-BTH sfed & | 31 9T, 2022 1 37ehT ferfa faemor e yepr 9 ot

31 AT, 2022 T FUT, ST Tt Fwht 1 FTafa faawon

ECilE LRERE RN 5,00,000
qw 3,00,000 wih 1,00,000
At 2,00,000
EaiEa) 1,00,000 |  6,00,000 Gl 00,000
A= = 50,000 | Sk H Tehg 40,000
TER 50,000
7,00,000 7,00,000

31 IS, 2022 I T 6l JJ & 715 | HIBGH Fch@ o FTIR Jdeh HIBER 6

fosaress 91 & gheR 9

G) e % g E § e |

(i) ¥ 15,000 AT a7 |

(i) TaTd § A gt T fUse I AWt % oftEa @ W @ O o

YR 9 hl ST |

(iv) Tood c@mhd ay 6t gury & gog i fafy 9 i § wm Seehl 1o
fUoc av o oW o STMUR T h! AW | 2019 — 20, 2020 — 21 aA
2021 — 22 % @9 A T 1,00,000, T 2,00,000 TAT T 1,50,000 ¥ |

(v) g9 9 17, 2022 F 39 AT ST 3 A€ T 20,000 T TR

Y R I TCAl H G Y 3Gk Gl Sl Y& HH 7 U HT S

fomarm |
Qa1 aIR hifsre |
67/3/3 ~~~~
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23. Trisha, Anisha and Rishika were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022

was as follows :

Balance Sheet of Trisha, Anisha and Rishika as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Capitals : Plant and Machinery 5,00,000
Trisha 3,00,000 Stock 1,00,000
Anisha 2,00,000
D 60,000
Rishika  1,00,000 | 6,00,000 | D¢Ptors ’
General Reserve 50,000 | Cash at Bank 40,000
Creditors 50,000
7,00,000 7,00,000

Trisha died on 315t July, 2022. According to the partnership deed, the

executors of the deceased partner were entitled to :

1) Balance in partner’s capital account.

(ii)) Salary @ ¥ 15,000 per quarter.

(iii) Share of goodwill calculated on the basis of twice the average of past

three year’s profits.

(iv) Share of profits from the closure of the last accounting year
till the date of death on the basis of last year’s profit. Profit for
2019 — 20, 2020 — 21 and 2021 — 22 were ¥ 1,00,000, ¥ 2,00,000
and ¥ 1,50,000 respectively.

(v)  Trisha withdrew ¥ 20,000 on 15t May, 2022 for her personal use.

Showing your working clearly, prepare Trisha’s Capital Account to be

rendered to her executors.

617/3/3
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24.

617/3/3

(%)

Aled fafds 4 T 10 I% & 80,000 THAT AWM I T 4 Ufd 3] &
fiftrm W fift @ & fow smeega smf=m fhe | afsr &1 ymam f=
TP © ¢F o :

AR | — T 5 Ifd 31w

AW W — T 9 Ui 1w (fiftem wfzq)
1,40,000 311 % Y 3TEGH WH Y q1 Gl SAeGeh i FTITAH
MR T ATEH T T 7T | e T UTH AR ART HT FHATSH
A W oF U d o forn o | wefle, ™99 1,400 30 & o
3TeieH ToRam o, ATee RN T YA i T STHHA T&T | 3Heh T 1
BT L o o | g ®, $9 g fohw Tu ot bt < 9 wfd o7 qui ved
g fifera o foam |
3T TGl o fau dred fafies i geashl H TEwEeh U
TlesT ST |

rera

[ ffids 9 T 10 I&% & 2,40,000 THAT 7901 Sl T 4 Ufd 7
Hfiftem X frifia w6 & o emaed smf=a fhe | Uit &1 yrae =
Haﬂii?éa'ﬂT:

e W — T 4 9fd 3191 (T 2 Hiftrem afza)

e W — T 4 Tid 39

o Ug iy AT W — T 6 Ifd 19 (T 2 Hiftw afza)
3,00,000 3 % fAQ 3Aegd UTH FT dom |t HATAGeR! Hl AT
JMYR T 330 T A L G T | e W ITH AR STTeIEH
TS o1 AR 3TTeed W ¢ U # o fom mr | ;eft ufsr fafereq
ITH &1 T, Ule 1 Biest e 7,500 791 & foiw stragd feram o qen
St SATEeH AT YW T AfqH ATeFT 1 PTAH i T 3w & |
ST TGl o T Sffod fafies i g&aei # STEvaeh U
Tfafeat Hif | STET 3Tavaes 8, 3TeT I WidT 9 IIH It il

GifaT |
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24, (a) Lotus Ltd. invited applications for issuing 80,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable
as follows :

On application — < 5 per share and

On allotment — < 9 per share (included premium).
Applications were received for 1,40,000 shares and allotment was
made to all applicants on pro-rata basis. Money overpaid on
applications was adjusted towards sums due on allotment. Rajiv,
who had applied for 1,400 shares, failed to pay the allotment
money. His shares were forfeited. Later on, these forfeited shares
were reissued at ¥ 9 per share as fully paid up.

Pass necessary journal entries for the above transactions in the
books of Lotus Ltd. 6

OR

(b)  Tulip Ltd. invited applications for issuing 2,40,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable
as under :

On application — < 4 per share (including premium ¥ 2)

On allotment - < 4 per share

On first and final call — ¥ 6 per share (including premium < 2)
Applications for 3,00,000 shares were received and pro-rata
allotment was made to all the applicants. Excess application
money received with applications was adjusted towards sums due
on allotment. All moneys were duly received except from Rohini
who had applied for 7,500 shares, and failed to pay allotment and
first and final call.
Pass the necessary journal entries for the above transactions in the
books of Tulip Ltd. Open Calls-in-arrears and Calls-in-advance

account, wherever necessary. 6
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25. (F) o AU @ HEER, S 3:2 % UM H oY dfed &, 1 31 4N, 2022
&t feafa foaror i yer @ o

31 HT=l, 2022 h1 & AT @ ot feafa feeror

TSR 30,000 | S H Tehg 20,000
e SaR-=gE =y 12,000 | TER 85,000
AT H= 25,000 | =21 Yr&U™ 5,000 80,000
gt ik 1,30,000
+ 1,60,000 IEEN] 60,000
c 1,40,000 | 3,00,000 | R 77,000
3,67,000 3,67,000
1 310, 2022 i 3@ A9 T % AT & fou 1 i Ffafaa st w

Teh 97 HTEIER 9 k1 i fora

() T I g & T T 1,00,000 T TAA(G h I AW H foC
T 50,000 Efa Hftey @ |

(i) ¥ 2,000 T TH HEH I o 3G AT |
(iii) 7w =1 IR JeF T 50,000 T |

(iv) U ¢eR, fSreh! SERT 1 $od U1 o &9 H UfAigd ot T
T AT, 3 Ul 9 | T 12,000 T YA fRAT |

YHEATR QAT A1 HIEIER] % Yol W dar T |

HAAAT
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25.

617/3/3

(a)

On 315t March, 2022 the Balance Sheet of partners A and B, who
were sharing profits in the ratio of 3 : 2 was as follows :

Balance Sheet of A and B as at 315t March, 2022

A A t
Liabilities m;unt Assets m;un
Creditors 30,000 | Cash at Bank 20,000

Investment

Fluctuation Fund 12,000 | Debtors 85,000

Less
General Reserve 25,000 | provision 5,000 80,000
Capitals : Stock 1,30,000
A 1,60,000 Investments 60,000
B 1,40,000 | 3,00,000 | Furniture 77,000
3,67,000 3,67,000

On 18t April 2022, they decided to admit C as a new partner for

% share in the profits on the following terms :

(1) C brought ¥ 1,00,000 as his Capital and ¥ 50,000 as his

share of Premium for Goodwill.

(i1)  One month salary ¥ 2,000 was outstanding.

(i11) The market value of investments was ¥ 50,000.

(iv) A debtor, whose dues were written off as bad debts, paid
T 12,000 in full settlement.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR
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(@) e, Trar qon war Tk ®BH H GT9ER 9 9 2 : 2 : 1 % 319 A
A8 dfed 9 | 31 AN, 2022 i 301 fEufa foawor 9 yr @

q1
31 "=, 2022 1 faT, Iar qen Hiar w1 fearfa feamor
S qfyr gt iy
T T
g o qem wed 4,80,000
At 2,00,000 IEER 1,20,000
T 2,00,000
TR 1,50,000
LS| 1,00,000 | 5,00,000
Y= T= 30,000 | 1!
’ PIERIE] 10,000 | 1,40,000
NG ALY 5,00,000 | ik 1,20,000
S H Uhg 1,70,000
10,30,000 10,30,000

3o Tafy =i, AT ®H & FaTHgT 81 5 AT I WEERI A AT
ST T@H 1 Fui foren | fEraiE o Qe del qansti <h
gAHgRe w1 weaid gs

(i)  WH I BAd T eAiohd T 3,00,000 ThaT T |

(i) Y7 AT I B T 1,23,000 TR A |

(iii) &G FT T 20,000 ¥ | TERI W Tfgy =0l & foIw 10% *1
T T o7 |

(iv) @l sl = g T 80,000 T TLd YTAH L feam = | 39
T 1 FEaFator 38 ®O @Wid ¥ K T mn Rwept ymam @
SR TSk fohvdl H 10% ISk e 8 IS 9igd fomam S |
AT & HATHET B T IR @Il aT HTEGRI o Yol @Td dar
I |
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(b)  Anita, Geeta and Sita were partners in a firm sharing profits
and losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at
315t March, 2022 was as follow :

Balance Sheet of Anita, Geeta and Sita as at 315t March, 2022

A t A t
Liabilities OV | Assets moun
< <
Capitals : Land and Building 4,80,000
Anita 2,00,000 Investments 1,20,000

Geeta 2,00,000

D 1
Sita 1,00,000 | 500,000 | DePtors 150,000

General Reserve 30,000 ;ics)\szision 10,000 | 1,40,000
Creditors 5,00,000 | Stock 1,20,000
Cash at Bank 1,70,000

10,30,000 10,30,000

On the above date, Anita retired from the firm and the remaining
partners decided to carry on the business. It was agreed to revalue

the assets and reassess the liabilities as follows :

(1) Goodwill of the firm was valued at ¥ 3,00,000.

(ii) Land and Building was to be appreciated by < 1,23,000.

(iii) Bad debts amounted to ¥ 20,000. A provision for doubtful
debts was to be maintained at 10% on debtors.

(iv) Anita was paid ¥ 80,000 immediately by cheque. The

balance amount was transferred to her loan account which
was to be paid in two equal annual instalments along with
interest @ 10% p.a.

Prepare Revaluation Account and Partners’ Capital Accounts on

Anita’s retirement. 6
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26. (%) 1 3¥«, 2022 # foq fafies 3 = 80,00,000 i wfegmafan qen
T 10,00,000 T GIAT3A T 9RA fAHES & T 72,00,000 3 T oI T
arfenrger foham | T 10,00,000 T YTAH 9Ra fAfies & 91 # s dh
e frifia s fobam I, = 8,00,000 &1 AW vRa fafies g
fore U v fof w1 iR #tes fohar o, e Jae 9w a1
g ¢F § a9 AY TR 1 PaE 11% RO Dl 10% § | g
Tk foham T |
fohy faficg i q&ahl H ITYE oGl & [T Tawaeh UsHHE
yfafseat Hife |

(@) 1 310« 2021 & fom fafies 7 T 100 9@% & T 20,00,000, 9%
FOTE b1 A 109% e @ foman, s wiem 5% Hiftem @ foman

SHT 2 |
form feafies i g&aent | oTaal o e 6t steawaes UsHm=n yfafseat
HITT | 4+2=6
AT
fawew - 1
(Taitar ferawont <1 fargerwor)

27. Ty=fafaa # & o daea few nfafafe=t @ Use g @ wefia 787 2 - 1
(a) T 25,000 H! foquH-= gfaqfai 1
(b) T 2,80,000 I fF =1 fosha
(¢) ¥ 3,00,000 % fafr=m <1 fosha
(d) T 1,00,000 % TIA HT T

28. fr=feifgd # & +19-9 Tl o1 IR0 UHe TF Uhg e Hl 3T=adig T : 1
(a) T 80,000 hl ANTG T HA=R T 75,000 H &= T
(b) ¥ 5,00,000 % S=H I hT A
(¢) ¥ 15,000 AT <F 1 YA
(d) Tl gREwafdi W T 11,000 1 Jeas™ YeH fham m
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26. (a) On 15 April, 2022, Smith Ltd. acquired assets of ¥ 80,00,000 from
Bharat Ltd. and took over its liabilities of ¥ 10,00,000 for a
purchase consideration of ¥ 72,00,000. ¥ 10,00,000 was paid by
issuing a bank draft in favour of Bharat Ltd., ¥ 8,00,000 by
accepting a Bill of Exchange drawn upon them by Bharat Ltd.
payable after four months and the balance by issuing
11% debentures at a discount of 10%.

Pass the necessary journal entries for the above transactions in the
books of Smith Ltd.

(b) On 15t April, 2021, Bingo Ltd. issued ¥ 20,00,000, 9% debentures
of ¥ 100 each at a premium of 10%, redeemable at a premium of

5%. Pass the necessary journal entries for issue of debentures in

the books of Bingo Ltd. 4+2=6

PART B
OPTION -1
(Analysis of Financial Statements)

27. Which of the following transactions is not related to cash flows from
investing activities : 1
(a) Purchase of marketable securities T 25,000
(b) Sale of land T 2,80,000
(c) Sale of investments ¥ 3,00,000
(d)  Purchase of equipment ¥ 1,00,000

28. Which of the following transactions would result in inflow of cash and
cash equivalents : 1
(a)  Furniture costing ¥ 80,000 sold for ¥ 75,000
(b)  Issue of bonus shares ¥ 5,00,000
(c) Payment to trade payables ¥ 15,000
(d)  Provided depreciation on fixed assets ¥ 11,000
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29.

30.

617/3/3

(1)

(i1)

1)

(i1)

Teh ] T RU-GHAT UG 2 : 1 3 | F=fafad 8 @ ak-a1 o
SRUI-GHAT AT <l TGIET ?
(a) ¥ 1,00,000 % 3730 1 fiEA
(b) T 4,00,000, 9% OIS T FTHT
(¢) ¥ 3,00,000 % =G 3730 h1 FfeA
(d) T 50,000 % HHGRI I WIAH
reran
31 W, 2022 ! GWH BT 99 H gl fafide 3 = @ W ¥ qE

< 15,00,000 %1 g A9 ARG FFAT | FE F1 T 50,00,000 F TH
10% ErEehTetE RO o1 | T & 40% & | HFIH] 1 TS S AT

B

(a) 27T
(b) 37T
() 127
(d)  1-57

frafafea 8 @ sH-a1 Tnayear AU 787 3
(a)  Ehdd Y AU

(b) T7ow | yem™

(c) FAIHE T4

(d) I ITTUT
rean
fFafafea @ @ wa-a1 Toxfia foawon =1 favewor =1 v Te= 2
(@) Tehg yarg foaw
(b)  ATH-gTH foreror
(c) Teufq foemo
(d)  (a) q°0 (b) QI
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29.

30.

617/3/3

(1)

(i1)

(1)

(i1)

The Debt-Equity Ratio of a company is 2 : 1. Which of the following

transactions will increase the Debt-Equity Ratio ? 1
(a)  Issue of shares T 1,00,000

(b) Issue of 9% debentures ¥ 4,00,000

(c) Issue of bonus shares T 3,00,000

(d) Payment of creditors ¥ 50,000

OR

During the year ended 315' March, 2022, Shradha Ltd. earned net
profit of ¥ 15,00,000 before interest and tax. The company has a
10% long term debt of ¥ 50,00,000. The tax rate is 40%. The

Interest Coverage Ratio of the company will be : 1
(a) 2 times
(b) 3 times
(c) 1:2 times
(d)  1-5 times

Which of the following is not a ‘Profitability Ratio’ : 1
(a)  Gross Profit Ratio
(b)  Return on Investment
(c) Proprietary Ratio
(d)  Operating Ratio
OR
Which of the following is a tool of ‘Analysis of Financial

Statements’ : 1
(a)  Cash Flow Statement

(b)  Statement of Profit and Loss

(¢)  Balance Sheet

(d)  Both (a) and (b)
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31.

32.

33.

617/3/3

HO Afaf=M, 2013 i ST 111, 91T I o IR Hul hl HHfIRaa Agi
i feafa faao o g wfivenl qen 3u-sfiveni (I HIE &) & IT=<HIA afihd
i

(i)  Erasli-ep ST

Gi) 310 9" A=
(iii) GeU NN

‘Tz th wH & Tafa faenor g eyl faeor 6 fafte aef & g gey
Terfia ot foreie gggar wd ikt w1 gg=e <l ufsea § )

gfsean 1 ugEm HIfT qur Iwe A W8 ufeE % @ SRvE a1 3g@
SHIT |

() Tr=fciiad g=m1 9 Fhal @19 3TUTA i TTUMT HIT

Ed o<l (Wik) T 1,60,000; 3= ATed I 8 AT, 3THd
! 4

ARG I T 2,00,000; SAUTNH IS & A 6 AT aAT TG

foshal o1 farshal T 25% |

HAYAT

(@) fmfcIRea = @ SRiEid IS AEd dTd i T0MET i
oo Ieft T 1,00,000
= It T 80,000
T & 3T AT T 3,20,000

Hehed ATH AUTd 20%
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31.

32.

33.
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

(i) Public Deposits
(i1) Income received in advance

(1i1) Loose Tools

‘It is a process of identifying the financial strengths and weaknesses of
the firm by properly establishing relationships between the various items

of the Balance Sheet and the Statement of Profit and Loss.’

Identify the process and state two objectives of the process identified

above.

(a)  Calculate Gross Profit Ratio from the following information :

Average Inventory ¥ 1,60,000; Inventory Turnover Ratio 8 times,

Average Trade Receivables ¥ 2,00,000; Trade Receivables
Turnover Ratio 6 times and Cash Sales 25% of Total Sales.

OR

(b)  From the following information, calculate Working Capital

Turnover Ratio :
Capital Employed < 1,00,000
Non-Current Assets < 80,000

Cost of Revenue from Operations < 3,20,000

Gross Profit Ratio 20%



34.

=T Spiculer e &1 4fgu 99n 39 YR W &y ¢ 997 o1 IR ST

Th-gAsfear fimm ¥ I g g 4 ‘e fafie @t % &9 A
2016 H ©: 3 Jddehl o HIY AT Teh 91 HGH™ A fopam | e
AR 3T=BT ANH 3T L W&l 8 | 31 7T, 2022 i 3TTee fdfies &t foxfia

=afa f=1 g oft
31 W=, 2022 T 31we it e = e feremo
P dle | 31.3.2022 | 31.3.2021
g, T T
I - |HAT dAT IATU :
1. civures fAfeat
(%) or Sl 19,00,000 | 17,00,000
(@) w= ug Ao 1 6,00,000 |  3,00,000
2. A9 FATE
STl 3aR 2 5,00,000 |  4,00,000
3.  aTe] ANy
(%) IR IUN 1,70,000 | 1,75,000
(@) TehIA JTa4™ 4 2,00,000 | 1,65,000
g 33,70,000 | 27,40,000
II - gt~
1.  3rue yiEmEt
(%) worh it
(i) 7o aiEe ot 5 24,00,000 | 19,00,000
(i) 3T afeErafaat 6 4,00,000 |  3,00,000
(@) or=a few 1,00,000 |  2,00,000
9. e U@t
(%) = faw 1,40,000 | 1,70,000
(@) i (ATcTE=I) 2,60,000 | 1,30,000
() s TI Uhe oI 70,000 40,000
EX 33,70,000 | 27,40,000
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34. Read the following hypothetical text and answer the given question on
this basis :
Azad, inspired by ‘Make-in-India’ mission, initiated his start-up in the
form of a company ‘Azad Ltd.” along with six other promoters in 2016.
The company has been earning good revenue consistently. The financial
position of Azad Ltd. as at 315t March, 2022 was as follows :
Balance Sheet of Azad Ltd. as at 315t March, 2022
Particulars Note | 31.3.2022 | 31.3.2021
No. 4 4
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 19,00,000 | 17,00,000
(b) Reserves and Surplus 1 6,00,000 3,00,000
2. Non-Current Liabilities
Long-term Borrowings 2 5,00,000 4,00,000
3. Current Liabilities
(a) Short-term Borrowings 1,70,000 1,75,000
(b) Short-term Provisions 4 2,00,000 1,65,000
Total 33,70,000 | 27,40,000
IT - Assets :
1. Non-Current Assets
(a) Fixed Assets
(i) Tangible Assets 5 24,00,000 | 19,00,000
(ii) Intangible Assets 6 4,00,000 3,00,000
(b) Non-current Investments 1,00,000 2,00,000
2. Current Assets
(a) Current Investments 1,40,000 1,70,000
(b) Inventories 2,60,000 1,30,000
(c) Cash and Cash
Equivalents 70,000 40,000
Total 33,70,000 | 27,40,000
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I
e 31.3.2022 | 31.3.2021
4. z T
1) | &= i (3 el 6,00,000 |  3,00,000

AT ferawor =1 3W)
(2) | el 3UR

12% T 5,00,000 |  4,00,000
(3) | TTIhIAA IUR

s srferfeend 1,70,000 | 1,75,000
(4) | STIRIAN Jrag™=

E2RIERIC) 2,00,000 |  1,65,000
(5) | 9o uiEmtaat

TSt 26,00,000 | 20,00,000

BT TehioId YeagTd (2,00,000) | (1,00,000)

24,00,000 | 19,00,000

6) | d aiEwtaat

=Tt 4,00,000 |  3,00,000
TR FFT

1)

(i1)

Z 10,000 < (YT T &=7 T |

T 1,00,000, 12% ROT9ST =hT 1A 1 37941, 2021 <6l Tomam T |

T 80,000 AT <h! Teh AT =i, 8 W Thiza Feag@ T 40,000

“Traw nfafafir’ qen fexfia nfafafemt’ & Uswe yatg i ToFT Hiflvw |
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. = >
(1) Reserves and Surplus 6,00,000 3,00,000

(Surplus i.e. Balance in Statement

of Profit and Loss)
(2) Long-term Borrowings

12% Debentures 5,00,000 4,00,000
(3) Short-term Borrowings

Bank Overdraft 1,70,000 1,75,000
(4) Short-term Provisions

Provision for Tax 2,00,000 1,65,000
(5) Tangible Assets

Machinery 26,00,000 | 20,00,000

Less Accumulated Depreciation (2,00,000) | (1,00,000)

24,00,000 | 19,00,000

(6) Intangible Assets

Goodwill 4,00,000 3,00,000

Additional Information :

(i) T 1,00,000, 12% Debentures were issued on 15t April, 2021.

(i1)) A piece of machinery costing ¥ 80,000 on which accumulated
depreciation was ¥ 40,000, was sold at a gain of ¥ 10,000.

Calculate cash flows from ‘Investing Activities’ and ‘Financing Activities’. 6
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(crireRfersr TiETeRT)

27. T dlfcheh 1 (he) § Tepa dTfehes Yol shi Tfafse i ST Hehell & ?

(a)
(c)
28. (1)
(11)
29. (1)
(11)
67/3/3

255 (b) 127
31 (d 15

frafoiflga @ @ e UM (SE) & T 91 W gAEua fear S
Ghdl & :

(a) had fopR W (b) kel oft
(c)  <had el 3R d) x-ATH ddT W
AUAT

frafafega & @S-8 1fiesfct or@n JurTel! @ 9ie @ 8 ¢
(a) 3AThs, Ufdded, 91, BEI, ATHea

(b)  JATehg, TN, HHEATTY, TSI, HATFR I

(c) oN, BRI, §&, 3Thg, Tl % =1

(@  3Afepe, wifern, wrifafy, Frm, Frfa
TSl TGl 61 ufeafa &1 gfdHiue Fefalied @ @ & faflime @[
T feher STar 8 31enq

(a) Uhdl M (b)  WUSId A
(¢c) W gHM (d) I HAH
HAAAT
TS 3ATehel bl JorT Terell ST 3TTehgl & LA <l UfshaT HgaTd! 8 :
(a) ¥USTRE 31hg (b)  FET 3AThg
(c) e vl (d)  Fiehe AR
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27.

28.

29.

617/3/3

PART B
OPTION -11
(Computerised Accounting)

How many logical values can be entered into a logical function ? 1
(a) 255 (b) 127

() 31 d 15

(i) From the following a legend can be repositioned on a chart : 1

(a)  On the corner only

(b)  Anywhere

(c) On right-side only

(d)  On the bottom of x-axis

OR

(ii)  Which of the following are the five pillars of computerised
accounting system : 1
(a)  Data, Report, Ledger, Hardware, Software
(b)  Data, People, Procedure, Hardware, Software
(c) People, Procedure, Ledger, Data, Chart of Accounts
(d) Data, Coding, Procedure, Rules, Output

(i) Absence of data items is represented by one of the special values
from the following i.e. : 1
(a)  Single value (b)  Stored value
(c) Multi value (d)  Null value

OR

(ii))  The process of comparing input data with some unknown data is
called : 1
(a)  Storage data (b)  Information data
(c) Data entry (d) Data validation
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30.

31.

32.

33.

34.

frffiad # @ 36 S@mehd g1 3U-IUMTE! 1 T8THT S HHATET o Heigl
qAT ST WA & FE1A 7

(a) T A@IhA IU-HUTeA

(b) =Y W IU-HITeAl

() WA TRETeh 39-STTeA!

(d) U T I9-JOrTed!

‘Siferra Figeamd qun ‘fafsrse giweast’ o ge gl b 39T 9 3TaT
s iy |

SAfTeR{eT TRgTeha Jurtet <61 fr=feTRaa @ faanati =1 avemsy .

(i) O Td Thihd

(i)  S[GAT AUl A

TS CHATAT o T@Th TG I THATST |
HAAAT

Tiesiie | YA sl I AT Hal (1) ASAm a7 (i) oAl bl 7Y GNT |

39 o< 1 (He) 1 AW GINT AT 5% HIF & o Teh 9108 T TR ST
a1 2 dur gl faw < frtg qen fgem fafyr off & 18 2 | sEenr aew-fa=me
o T3Sy |
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30.

31.

32.

33.

34.

617/3/3

From the following, identify the Accounting information sub-system

which deals with payment of wages and salaries to employees :
(a)  Tax accounting sub-system

(b)  Expense accounting sub-system

(c) Cost accounting sub-system

(d)  Payroll accounting sub-system

Differentiate between ‘Generic software’ and ‘Specific software’ on any

three bases.

Explain the following two features of Computerised Accounting System :
(1) Simple and integrated

(i1)  Accuracy and speed

Explain the accounting group of ‘Current Liabilities’.
OR
Give the meaning of the terms (i) Labels, and (ii) Values as used in

spreadsheets.

Name the financial function which returns accrued interest on a bond
with 5% coupon rate and where issue and settlement date of investment

is also given. Also explain its syntax.
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